YHAKIO

702B. 850B. 852. FR-801. FR-802. FR-803.
FR-803B, # 73>/ X
FHEDTEE
-702B. 850B. FR-801. FR-802|CfFAT 354
J ZVOARBICKLCIMS x BB DNTVBREIE.
RLAESSHOT TS0, THER
- 852, FR-803. FR-803BI_PAT 3154
J ZVOARBICKLCIMS x BB DNTVBREIE.
RLESLTLIZE0,
-V ZERBICRLEMS x BB DO TORWL ./ XUl
XY RIZEBTEEH Ao
-BGARB/ XIE/Sw RIFBATE%7,

13 U /4287
(M3 x 5)

o—1

—

702B, 8508, 852, FR-801, FR-802, FR-803, FR-803B
ZiEEE

FHENEE

- Bd702B, 850B, FR-801, FR-8021t F i
LIS S N HIE RS (M3 x 5), 5a ZJHCT HARET o
2218 L JE]

- Ei852B, FR-803, FR-803B{i F I}
LIS S N HI GRS (M3 x 5), 5 BT HLIEET o

- B e S ME W N v A PR I REAET 17 ML 5 S R ok D 34 o

- BGAME 1 ] DUfeH AW 34 o

2022.2
MAO01400XZ220221

YHAKIO

702B. 850B. 852. FR-801. FR-802. FR-803.
FR-803B. # 7> 3>/ X
ERLOIEE
- 702B. 850B. FR-801. FR-802ICAT 2%E
/ ZJVOARRICKA M3 x 5D DNTWBIHEIR
RLZSSENTLIZE L, THER
- 852, FR-803. FR-803BIZEAT %6
/ ZJVOARRICKA M3 x 5D DNTWBIHEIR
RLzHLTIZS,
YV G)/ ZWERBICR M3 x 5D DOTULRLY/ RV
NV RRERTEEE Ao
- BGAR/ X)IF/NNw FIFERTEE T,

1 U /1287
(M3 x 5)

702B, 8508, 852, FR-801, FR-802, FR-803, FR-803B
FHEMEE

EAERES

- Hi1702B, 850B, FR-801, FR-80218 F IFf

AR E S A BAET(M3 x 5), §5Z7HCF HAEET o
2R bl

- Hii852B, FR-803, FR-803B{i Ik
ARSI EERET(M3 x 5), GEHCT HLRET

- BB AR R v 7 A TR ET Y MR s mE fek P 84 o
* BGAFE IS AT LLfe I I 8 o

2022.2
MAO01400XZ220221

YHAKIO

702B. 850B. 852. FR-801. FR-802. FR-803.
FR-803B. # 73>/ X)L
FHEDZE
- 702B. 850B. FR-801. FR-802|CFAT 354
J ZIUOARBICK LIS x 5P DNTNBIBEIE.
RLAESSHROTL TS0, THER
- 852, FR-803. FR-803BI_fBAT 31846
J ZVOARBICK LIS x 5P DN TNBBEIE.
RLCEHSLTLSIZE D,
-V H I/ ZERBICRLEWMMS x DDV TORWL/ XU
N RIZEBRTEEE Ao
-BGARB/ XIE/Sw RiFBATE%T,

1 U/828]
(M3 x 5)

o—1

—

702B, 8508, 852, FR-801, FR-802, FR-803, FR-803B
ZiEEE

A ERES
- B1702B, 850B, FR-801, FR-80218 F if
ARSI SRET(M3 x 5), 5 277U LLIRET o
2R L8l
- Bi1852B, FR-803, FR-803B{ It
A0 ERE N HEERET(M3 x 5), FEHCT BLERET o
- BRI K P IR ET A M s S BE (e P W 4
» BGAME I H] LLfef i W 84 o

2022.2
MAO01400XZ220221

YHAKIO

702B. 850B. 852. FR-801. FR-802. FR-803.
FR-803B. # 7> 3>/ X)L
FRAEOEE
-702B. 850B. FR-801. FR-802|_#AT 3185
J ZIORENICRALCMS x 5P DO TWVBBEEIE.
RUHEHSSEOTLIZS0. THER
- 852, FR-803. FR-803BICERT 3185
J ZIORENICRALCMS x 5P DO TWVBBEEIE.
RAlzEHILTLIZS0,
VAN RV ERBIICRLEMS X BHIDDOTUORL ./ XUl
Ny RERTEEH A
- BGARA/ X)UIENNv RIZERATE£7,

7. U /1287
(M3 x 5)

o—1

———

702B, 850B, 852, FR-801, FR-802, FR-803, FR-803B
HHEEE
EAERES
- H1702B, 850B, FR-801, FR-80218
R W IS BRET (M3 x 5), 557700 HAgET o
ZHE L [
+ Bl852B, FR-803, FR-803B{ ]k
AR P HIE BRET (M3 x 5), §EHCT BLERET o
- BRI Ry A P UIERET Y R s S BE (e P I 8
» BGAFE S AT LLf I I 3 o

2022.2
MAO01400XZ220221



YHAKIO

702B, 850B, 850D, 852, FR-801, FR-802,
FR-803, FR-803B, Optional nozzles

Precaution

*Using the nozzle with 702B, 850B, 850D, FR-801,
FR-802
If the nozzle has an M3 x 5 inside screw, do not
remove the screw. Refer to the drawing as under.

*Using the nozzle with 852, FR-803, FR-803B
If the nozzle has an M3 x 5 inside screw, remove
the screw.

-Some nozzles do not have an M3 x 5 inside screw.
The vacuum pad for 852, FR-803, FR-803B cannot
be used for these nozzle.

-The vacuum pad for 852, FR-803, FR-803B can be
used with BGA nozzles.

inside screw
M3 x 5

2022.2
MAO01400XZ220221

YHAKIO

702B, 850B, 850D, 852, FR-801, FR-802,
FR-803, FR-803B, Optional nozzles

Precaution

Using the nozzle with 702B, 850B, 850D, FR-801,
FR-802
If the nozzle has an M3 x 5 inside screw, do not
remove the screw. Refer to the drawing as under.

-Using the nozzle with 852, FR-803, FR-803B
If the nozzle has an M3 x 5 inside screw, remove
the screw.

-Some nozzles do not have an M3 x 5 inside screw.
The vacuum pad for 852, FR-803, FR-803B cannot
be used for these nozzle.

- The vacuum pad for 852, FR-803, FR-803B can be
used with BGA nozzles.

inside screw
M3 x 5

2022.2
MAO01400XZ220221

YHAKIO

702B, 850B, 850D, 852, FR-801, FR-802,
FR-803, FR-803B, Optional nozzles

Precaution

-Using the nozzle with 702B, 850B, 850D, FR-801,
FR-802
If the nozzle has an M3 x 5 inside screw, do not
remove the screw. Refer to the drawing as under.

-Using the nozzle with 852, FR-803, FR-803B
If the nozzle has an M3 x 5 inside screw, remove
the screw.

-Some nozzles do not have an M3 x 5 inside screw.
The vacuum pad for 852, FR-803, FR-803B cannot
be used for these nozzle.

*The vacuum pad for 852, FR-803, FR-803B can be
used with BGA nozzles.

inside screw
M3 x5

2022.2
MAO01400XZ220221

YHAKIO

702B, 850B, 850D, 852, FR-801, FR-802,
FR-803, FR-803B, Optional nozzles

Precaution

-Using the nozzle with 702B, 850B, 850D, FR-801,
FR-802
If the nozzle has an M3 x 5 inside screw, do not
remove the screw. Refer to the drawing as under.

-Using the nozzle with 852, FR-803, FR-803B
If the nozzle has an M3 x 5 inside screw, remove
the screw.

-Some nozzles do not have an M3 x 5 inside screw.
The vacuum pad for 852, FR-803, FR-803B cannot
be used for these nozzle.

- The vacuum pad for 852, FR-803, FR-803B can be
used with BGA nozzles.

inside screw
M3 x 5

2022.2
MAO01400XZ220221



